ANSWERS
QUIZ topics 1 and 2

1. B

2. D

3. A

4. C

5. C

6. B

7. A

8. C

9. B

10. C

11. D

12. A
13. C

14. C

15. D

16. A

17. Answers will vary.

Example:

1) Food.  Vegetables and fruits are a large part of our diet.

2) Textiles.  The fibre from plants is used to make clothes and other materials.

3) Gas exchange.  Plants provide oxygen and absorb carbon dioxide, maintaining a balance of gases in our atmosphere.

18. No, photosynthesis requires sunlight to power the process.

19. Guard cells surround the edges of the stomata.  They control the opening for gas exchange.  During the day they are filled with water, and the water pressure keeps the stomata open, allowing the plant to take in carbon dioxide and expel oxygen.   AT NIGHT, two processes occur.  Excess water in the plant evaporates from the stomata in a process called transpiration and the reduced water pressure in the guard cells allows the stomata to close.  A small amount of oxygen is taken in by the plant at night, and excess carbon dioxide is expelled.  This is called respiration.
BONUS:  D, underground in Switzerland.

QUIZ topics 3 and 4

1. A

2. A

3. B

4. A

5. A

6. A

7. A

8. B

9. A

10. A

11. D

12. E

13. F

14. C

15. G

16. B

17. C

18. B

19. A

20. E

21. Seed

22. Diversity

23. Reforestation

24. Irrigation

25. Lodgepole pine

26. A monoculture is a crop consisting of only one species.  An example of this would be a field of corn.

27. Soil erosion is the movement of soil by wind or water.
28. Answers may vary.

Example: 

1) Swathers – used to cut hay.

2) Combine – harvest grain and separate seeds

3) Plough – used to turn and mix the soil.

29. The parts of the flower are:

a) Anther

b) Pollen grains

c) Filament

d) Stigma

e) Style

f) Ovary

g) Ovules

h) Stamen

i) Pistil

30. Wheat

QUIZ topics 5 and 6
1. D

2. C

3. A

4. F

5. G

6. H

7. E

8. B

9. F

10. A

11. F

12. F

13. F

14. D
15. A, C and D. (this was a mistake in the question)

16. B

17. D

18. A

19. B

20. B

1) Powerful taproot does not allow the entire root to be pulled out.  The remaining piece of the root can regrow a stem and leaves.  The roots can also store nutrients to get a fast start in the spring.

2) “Super” seeds that are produced in large numbers and distributed by an “umbrella” structure that carries the seeds on the wind.
3) Chemical agents are released by the dandelion to slow the growth of surrounding plants.

21. Bertha army worm (hatching larvae feed on the leaves and pods), Fusarium fungus (attacks stems), or Sclarotina (infects leaf axils).

22. An introduced species is a species placed in an environment that it is not usually found.  An example of this would be dandelions from Europe being brought to North America.

BONUS:  Answers will vary.  

